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in the context of area under a curve. You may use an
illustration to accompany your text
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Find t]ﬁa le@memann approximation of f + x + 1 using 4 intervals of equaI width. Then
determme if this is an over or under approx1mat1on and explain how you know.
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Shown below are selected values for a differentiable function f(x). Find the difference in the left and™

rlght Rlemann ag)_grommatlons of f f(x) dx using the intervals indicated by the table.
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6. Find the area of the region bounded by £(x) = x5 — 4x? +3x + 4 , the [ o e
x-axis, and the lines x = -2 and x =1 8
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8. Find the interval(s) over which f (x) = -—(x x? - x) is docreasmg and concave down.
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